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Find the x value at which the inflection point of g(x) = 10x® + 30x* + 20 occurs.

j'lsc\‘-' 30x2+ LDX
e 5”(x\:¢0x+w=o
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1 = -\
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Cc -1 - -F
|
D -9 J
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E 1
F 2

Which of the following limits equals oo 7
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Find the largest open interval where the function f (x) = —x* + ~x3 4 9x is concave down.

12 3
3. A (0,0) F’(x): 9 x3+}-X2+q
e R + -+
| | T 4>
C (-2,0) - ?X +X +<1 "i Ol >.P
/
D (2,%) F’(X} 2%3(1"' LS = ConcCave Do\«JY\
E (~o,-2) = x*+AX =0 (-3, 0)
F (0,2 X (X 1-;?)2' 0

X=0,-2.
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Find the x value at which the absolute maximum of y = x3 — 12X occurs on the interval of [- 3, 3].

o YIRS
B -3 3(\4 3\()(‘\‘1-\ =0
c 0 v=1d
D 3 N \,:x‘—\ax Conclulion
E 2 =3 [-T3+3=1
- ~32+U=\0 m a¥
F -2 _a‘ 2-24Yy=-1b
3 A3-3b=-19

-1 (x-1)(x+)

Choose the number of true statements regarding the function f(x) =

X— 4 ’ x‘q
e y-intercept is (0, 1)
] 1) .
4 e X-intercepts are (—1,0) and (1,0). V —l!\’onI‘GgJ'\'
I ) has one vertical asymptote. Wh(ﬂ *= 0’ 7 = o-1 :_l
V/\‘ ) does not have any horizontal asymptote. o- q |.1
f (x) has one slant asymptote. .
v“"’f;ffo SYant/Harizanla
- / .
5. A No statement is true. 0= 2| D"FFCPCV) V] le
B Only one statement is true. - - P =1
O=x*-| = Slant
C  Only two statements are true. |: X1
x - S
D  Only three statements are true. - =
E Only four statements are true. _\[_B.: 9= x""l
X=Y

F All five statements are true.
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Evaluate
2x3 4+ 1
6. A ——4+C
4x2 +
3 1
B x4+ -Iln|x|+C
3 +8n| | +
3xX+1
C + +C
8x
2x3 4+ x
D ——+C
4x2 +

E gﬁ+mwﬂ+c

3
F —-x+C
2—|—
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Given the graph of f/(x) below, choose the correct statement regarding f (x).
o ] Incrgab.'nsl (-N, -|) (V) ( \/ “\
Decreay. ng: Gy

maX Wl:'\

| M\
fle e Sl SO 1

| | | 2
-I ; criiictl #<

Concave Up. (229

Conceave Down: ( o9, 0)

e 3
Pl
7. X f (x) is concave up on (—oo o0 ), Tntlectim B

% f(x) is decreasing on (—eo,0).

C  f(x) has a relative maximum at x = — 1.

% f (x) does not have an inflection point.
X f (x) has only one critical number.

}( f (x) has a relative minimum at x = 0.

Evaluate

/(cos X — sin X + csc X cot X) dx.

S.X sinXx— cosX+cscx+ C Scogxdz(:s|n)(
>< sin X 4+ cosX— cot x + C

}( —sinx— cosx+cotx+ C S_S’nX&Y:COSX
D sinx+cosx— cscx+ C S(S{XC’U"'X:-CSC >(

% —sinXx 4 cosx +cotx+ C

x —sinx— cosX— cscx+ C
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Given y'’= 6€* + 6 with y(0) =4 and y(2) = 6€*. Find y(3)

Sy"o‘\/ S@e +6)M
9. A 6-38
B 6€-6 \, '—'GC toxtc
C 66 +10 H:\/'/b)_éco-ké”c
D 6€ +18 1= 6+C

-2=c

E 66— 12 y':ée“.;(,x_;l
F 66 +13

: 57'4)' = SQC""‘Ax-l) Ax

Y= éex"'é-};_:z-—§l><-"C

Y= beX 43K~ XAC
L=y (2)= 6 3R 2+
Q= ld-Y+C
c=-9
Y= b6&Fr 3x7»9)t—&
Y0) =6 + 3 2(3)-2= Le’+13

m You have 80 feet of fence to create a rectangular dog run, which will be bounded on one side by the wall of your

house. What is the area of the largest dog run that you can create?

10.|A 800 ft2

B 842 ft2

C 748 ft2 Yy
D 938 ft?
E 964 ft2

F 780 ft?

R0=P= Ax+y 7’30’:""”\
. =30-40
} N=&0-X ~up
A= 4 A=20x40
=X (86- 2x} - Spp
—&)x—ax
A'=20-Yx =0
20=x
X=20

A company’s marketing department has determined that if their product is sold at the price of p dollars per
umt they can sell g= 1200—- 100p units. Each unit costs 6 dollars to make. What price, p, should the company charge

to maximize their profit?

P=R-<
R=pg

11. A $18
B $15 \, c=6
Cc $10 P = “é
D $12 P E‘ *

E $9 = C_:{,(\O~ 63
Fo$s < (Lao()-\ 009\ (p—é)
=-100 (p-12)p-t)

P'=-106(3e-8 =0
QP \12=0
p=4

-100 (Pa-lbp +72)
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Matt is building an open top wooden box for his cat Rupert, who likes to play with boxes. Matt is using wood on all
four sides and the bottom, and is covering the wood on the bottom with carpet.

Matt would like the bottom to have a square base. The cost of wood is $2 per ft? and the cost of the carpet is
$1 per ft2. Rupert requires 48 ft> to have a satisfactory play in the box. What is the minimum total cost of this box?

$3¢€ \Josl Por s\des A bottam
fle Corpﬂ'? For bottom

//—\7 open '\'op

2 93
y 48=V=xXY 2 ey
12. A $156 2
B $164 C_:$2(x1-l—"|){y}¥$ I(X)
c $118 X * = QKQ“ 8xy -I'Xa
D $176 = 3%3+ dxy <
E  $132 . C= 3><2—!- ¥ (“‘._é)
bl
F  $144 - 3)(’1"‘- 3&_\'
X
= 3¢t + 384 X!
c'=ex -38Yx "t =p
Printed from LON-CAPAOMSU éx i 3 gi‘&iise?ndér GNU Genera. 1 Public License
Xl
bx =324
| X

(3= 399

NSERA

X =Y
LI



